SSTYC1 Seat S

Seat Stays / Supports Installation.

(—

ays / Supports

Seat Stays 2 pieces *FIT KIT — if a seat is already fitted to your chassis with only 4 points, you will
need another 2 points worth of bolts to fit this item. You will need 2x M8x35-50mm bolts
(depending on whether you use nylon spacers and large OD washers), 2x 8mm Nylon seat Spacers
(optional), 2x M8 Nyloc Nuts, 2x M8 Machine Washers, 2x 35mm OD / 8mm ID countersunk seat
washers, 2x large OD flat seat re-inforcement washers (optional).

a. Remove the M8x50 bolt at the top front of the left side bearing and the M8x50 bolt at the
top front of the centre bearing.

b. Place the seat stays at the outside of each bracket (on the right side of the kart, ensure
the seat stay is threaded through the sprocket Guard) and secure using the M8x50 bolts
previously removed. Ensure the stays angle in towards the centre of the kart.

c. Drill two new holes at the top of your seat.

d. Fit a bolt through one of the 35mm OD / 8mm ID countersunk seat washers, then through
the seat hole you just drilled, then through the large OD seat washer, then through one of
the 8mm Nylon Seat spacers, then through the top of the seat stay, then through an M8
machine washer and finally fix in place with an M8 Nyloc Nut.



e. Repeat for the other side.



